Name: Date:

Teacher: Class:

Multiplication/Division 509

Why didn't the skeleton cross the road? He didn't have the
guts.

Multiplication and Division

1. 88+8= 21. 32 +8= 4. 54 +9=
2. 2 x9= 2. 4 x8= 42. 12 x8=
3. g-g8= 23. g0+ 8= 3. 45 =:Q=
4 Gx9-= 2. 4 x9Q= 4. 3 x8=
5. 99 +9= 25 81+9= . 36+9-=
6. 3x9: 26.5x9: 46.8x9:
. 18+9= 21. 56+ 8= 4. 90+ 9 =
8 10x9 = 28. 1 x9= 48. B x 8 =
9. 108+ 9 = 29. A0+ 8= 9. 16 +8=
0. 10x 8 = 30. 9x9Q= 0. 2x8=
11. 96+~ 8 = 3. 3 -9 = 51. 24 -8 =
12. 9gx 8= 32. 12 x9= 2. x 8=
13. 48 +~ 8 = 33. 27 +9Q9= 8. 64 +8=
4. 7xQ= 34. 11 x 8= 5. 1 x8=
15. 70+ Q= 35. 54+ Q= 55. 9+ Q=
16. 7 x8= 3. 11 x9= %. 8x8=
17. 72 - 8 = 37. 108 + 9 = 5/. 81 +9=
18. 1x9Q= 38. gx 8= 8. 4 x9=
19. 88 ~ 8 = 39. g3 -9 = 9. 56+ 8=
20. 8 x Q= 4. 3 x8= 0. 11 x 8=
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108 + 9= 12
10 x 8 = 80

96 +8=12

9x8=72

48 +8=06

7 x9 =063

72 +-9=28

7 x8 =56

72+-8=9

1x9=9

88 +8=11

8x9=72
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Date:

Teacher:

Class:

Multiplication/Division 509

30.

Why didn't the skeleton cross the road? He didn't have the

guts.

Multiplication and Division

32+8=4

4 x8= 32

80+8=10

4 x9 =36

8 +9=09

5x9=45

56 -8=7
1x9=9
40+-8=5

9x9=281

63+9=7

12 x9 = 108

27+9=3

11 x8 = 88

54 -9 =6

11 x9=99
108 +9 = 12
9x8=72
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63+9=7

3x8=24
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54 +9=6

12 x 8 = 96

45 +-9=5

3x8=24

36 +9=4

8x9=72

90 +9=10

5x8=140

16 +8=2

2x8=16

24 +8=3

6 x8 =48

64 +-8=8
1x8=28
9+-9=1

8 x 8 = 64

81+9=9

4 x9= 36

56 -8=7

11 x8 = 88
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